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HW 3 - 3: Answers
1. {(2, 1)} 4. (x-2)>+(y+3)*=16

2. {(-2,-3), (1, 3)} {2, 1), (-2,-3)}
3. {(2, 1)} E-X=1,)’=-1,Z=2j

I'll go over both HW 3-3 & HW 3-4 tomorrow
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b. Solve the same system algebraically.
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Solve graphically. Be sure to include all required parts.

y=2x+1
yz=2x?+4x-3

3. A (x+1)%+ (y-1)°= 16
B: (x-4)°+ (y-1)°= 4

Answer: {(2, 1)}

y= 2x2%+4x- 3
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4. xPay'-4x+by-3:=0

@Solve the following system of equations algebraically.
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QUIZ

Back to U3D3

ystems

ically
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34&4. Find the solutions to the neur'esz’ren’rh Dsing your graphing calculator, hu\"\&

Include a sketch with labeled po intersection and the window you used to

see the graph with all points of intersection,
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Rewrite the equation of the @y completing the square in both x and y. Describe and graph

the circle r‘aiesenfed by the equation. S
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U3D4

tems
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Sieps to consider;

1.  Solve the linear equation for x ory.

2. @to the circle (or parabola) equation.

3. Solve.

4. Substitute your answer into the linear equation o solve for the remaining variable.
5. Express your answer as points in solution ie {(2, 3), (-1, 4)}




U3D4 - per8-9 Solving Systems Algebraically.notebook October 17, 2019

O\'M / {\'k{
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Solve the sysjrems algebraically:

3. y=4x+6 Ser =
y=(x+4)°-10
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5. Solve the sys'rem of

equations algebraically for x and y.
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